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ASSIGNMENT - DIFFERENTIABILITY

Questions Answer
dy  [y.cos x+sin(x+y)]
L] cos(x+y)=ysinx dx [sin(x+y) +sin x|
) Jx+.Jy =+a d_y:_\/z
' dx X
ax? +b(x+y)=vy dy _ 2ax+b
3. dx  1-b
4 y= e{:ICOS_lx dy _aeacos’lx
' dx J1-%
5 y=sin(msin‘l x) dy _ mcos (msin"*x)
) dx &1_)(2
_ a3 o
6 y=e""sin4x Y _ g (4cos4x+3sin4x)
: dx
2 | y= a+a+x & _ !
' dx 4\/a+\/a+x«/a+x
d X
8. y=xf4+xf4+x/4+x2 d—i=
4xf4+\/4+\/4+x2 \I4+\/4+x2 \/4+x2
Y= dy  a°
. 612—X2 d_X_ 2 2%
)
0 | y= X+1+4/x-1 d_y:l+ X
' X +1-x—1 dx x? -1
1-x 2\ dy
If v= show that (1-x°)]—+y=0
11. y Trx ( )dx
T (K o2
12. | y=tan (1_4)( dx  \x (1+4x)
y:—ql—COSX ﬂ:—cosecx(cotx—cosecx)
13. Lt oosx dx
10 o o _yix)
dx  x(y-1
15. | If siny=xsin(a+y) dy sin(a+y)
dx  sina
1
16. Ify=om_ X prove that (1—x2)d—y—xy:1
y j 2 dx
1-Xx
17. | If sin(xy)+cos(xy)=1and tan(xy)=1 show that &Y - _Y
dx X
18. 1 1 xP.ys =(X+Y)p+q show that ? Y
X X
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19. | IfxYy* =3 y
dy logy+=
show that —= = — —’;
logx+—
y
X
20| y=¢"logtan2x g_y = ¥ (4cosec4x +log tan 2x )
X
COSX
21| y=(cosx) g—y = (cosx)™” {—sinx(1+logcosx)}
X
22. y=log V1-C0sx Y _ cosecx
\j1+cosx dx
23. yzﬂfsin ?1+x2 ﬂ: X cOs X1+ X?
dx 21+ X2 x/sinx/1+x2
24. y- sec2x -1 d—yzseczx
~ \sec2x +1 dx
25. | y=sin+/sinx+Ccosx dy cos+/sin X +Cos X (cosx —sinx)
dx 2/sin X + cos X
26. y= fcosx—sinx ™ (ﬂ_xj
COS X +Sin X d_y:_—4
dx
2, [tan (n—x)
\j 4
27.|  [rtanx sec? (mxj
y 1-tanx d_y:—4
dx
2, [tan (n+xj
x} 4
28. Sin2 X d_y _ 2sin 2x
LA _ 2
1+cos? X dx (1+ cos? x)
29| sinix dy _ W/xcosy/x —sin/x
a JIx dx 2x72
30. | yo I-x?sintx+x dy _,_ xsin~tx
dx J1-x2
3L. yzcos’l(\/cosx) 1 feoxat
dx 2
32 . X-Xil dy_ 2
=sin v 2
Y x+x1 dx  1+x
33| 1 dy _ 2x
y=tan 12 dx  1+x*
If you need to do something, don't wait until later. Do it now.
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